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5G O[of7| 23t 200GB

5G 0|0f7| £t 54GB

5G O|of7| F3t 74GB

5G O[0f7| 23t 99GB

0|0F7| 300 2+5GB(5G)

0|0F7| 300 £+7GB(5G)

0|0F7| 300 £+9GB(5G)

L{2HCH2 S(100+10GB)

60,800 ¥

47,300 A

48,400 &

49,500 A

18,700 ¥

24,200 ¥

29,700 &

17,600

45,100 &

53,100 A

48,700 &

45,100 &

40,700 &

46,200 &

41,800 &

47,300

42,900 &

18,700 &

24,200 ¥

29,700 ¥

17,600 &

5,500 ¥

3,300 &
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=
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7
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= 2
ZHY = 7OHE 2 26600 B ol o712t SR = 2200 ¥ &
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7YL~20224 1031

o177t
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It = 67HET B 12100 B, BRIV B 3 2AIY Q1S
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3KT Z22M
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O|0F7| K H|OJE| 11GB

O|Ok7| K H|OIEf 10GB

O[OF7| K 20| E 10GB+

O[0F7| K H|O|E S+ 300MB

O[OF7| H|O|E] 15GB+

0|0f7| K O|O|E{ 15GB+/300 &

O|OF7| K 20| £ 15GB+

OJOF7| K OfE 5GB+

LH2HCHE K (60 =2 +300MB)

O[0F7| K 2ty H|OJEf 100G+

O[0F7| K 5G AH|E(X[L|FZ)

0|0f7| K 5G AT{&

44,000 A

42,900 &

33,000 ¥

29,590 ¥

35,200 ¥

42,900 &

34,100 &

60,500 A

6,600 &

63,500 &

78,100 &

78,000 &

39,600 &

38,500 &

26,400 &

29,590 ¢

29,700 ¥
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27,500 &

44,000 ¥

4,400 &
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=
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O[OF7] K 5G &2

O|0F7| K 5G & &8~

0|OF7| K 5G 2t 6GB+

O|OF7| K 5G Q4! 8GB+

0|0F7| K 5G Q4! 10GB+

0|0F7| K 5G Q4! 15GB+

O|0F7| K 5G QA 20GB+

0[0F7| K 5G HIOIE &=
10GB/200 &
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O|OF7| K Ci|O|Ef 11GB+
(HHEkel 2IZ 5000P)

O|0F7| K H|O|E| 11GB+
(28

0|Of7| K G|O|E 15GB+
(B2

O|OF7| K CHIOIE 11GB+
(N Pay 5000P)

O|OF7| K CHlOIE 15GB+
(N Pay 5000P)

O|OF7| K IIO|E{ 11GB+
(SEXF_H|O|E)

O[OF7| K QtA H|OJEf 100G+
(StA_ = 2|0 Q)

P

O|OF7| K CiO|E{ 11GB+
(2712 5000P)

O[OF7[ K H|O|E 11GB+

SEEES)

66,000 &

65,890 ¥

56,100 A

38,500 ¥

40,300 A

33,000 A

31,500 &

65,890 &

69,300 ¥

65,890 ¥

65,890 A

37,400 ¥

37,290 &

29,700 A

37,400 ¥

37,000 ¥

31,900 &

29,700 &

30,400 A

38,390 A

37,290 &

49,500 &
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2023 2@ 1¥~2024H 1" 31 Y
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